Differentiation Theorems

Dx [C]: O
Dy [XM1= Al | | Poes Pulh D;«{@]:iﬁ

=~y — £4=7."
O(}Cx\: Ix = ra'mt 2d y"

(o ¥, .
5 . 7
= VF = Y =)= 3 x :5_9“?_

l/,L '|/L ,
P (X =0 5= ix" =



g/ﬂ: (%X‘S)/ZX +)>

£’/>{\"— (%e—s)( 2) (ixu)(s)
= (x-10 +06x 473

=| 1[ex|=7

%(‘X\: (9)(1 _7)(__%
JE(X\ = N l7

G- (5ea9) 4= (RX0)3 (573 3 )



QU(Jﬁ{m‘ Kol
{/;)\j &6 £ - £60) é,'/y\
)

ol aa
% 2=\
WC/)“" 2x+D
, (3204+3)(B)r (Ex—:)(jl
£73) < ZMSS
X ET H R AT
(?-x,\—'b\l

LA
(l)ﬂ-ﬂl

—_—



DA lr

%/){\: 3&
- Kdl/z’(%y_o)
2/ 173
=T 5 — b

ik

QQM:Q; 12
ol o

)




M =305
‘F)f X -%0x +5B

,. s
?[H: Ad>x - LOx

£ {w) = —Es
W
- Gw
t(w\: B U\)_u
NE






NVrTiva & oF T

ﬂo(MIt

|0
v A =4
f UUVIJF{, é?} yé{_mm + %{ 1Y x Sl
(9(‘&-: _S | == (4“-3\
Qg (4-2)(o) - (16)(-2x)

ay. qrEral i
s m, - 20
dx\ 4

X=4



T Whnte eq. 1/{) bin B %:%%L—a(x Ao
s 0 aratld Ay +>=0.

SJUV,eoé 91 ven line is 9 — M=

gﬁf:(""“q (1)-1)
g prd=a—vx=l =gt b

;?-\-\’—TD\,(V— \3



ﬂj— WVJ')/Q AN éﬁilfl ’]l]) ﬂ:%’- Hhut
pUsses Hhrn (S9).

dy
Z,T:;x T

glo,(u Jb [{we thva (X,Xq g\(g,ﬂ S

: <l>{\ e QQ,SL\

Ai‘(h() d;a;\ —-:l I %J(lex—L\
FH(TS\\ 0‘_0%(\ e 4- pl= B (x-9)

X=q



